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Sorting Activity - Copy out table A & B and 
complete using the statements in the middle.  

Freed from prison but 
banished from Athens

Feels that the other 
Knight could raise and 

army and win Emily

Feels that without 
seeing Emily he might 

as well be dead

A - Palamon B - Arcita



Challenge...
Try to answer the following question as part of 
your review work on this lesson.

Who do you think is suffering the most?
To answer this question you will need to consider:

● Arcita’s thoughts after banishment

● Palamon’s thoughts about Arcita’s freedom

● What may happen now that Arcita is free?
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